Efficiency vs P,

10.05
o
9.045
>
20.04
@
2.035
[J]
0.03
0.025
0.02
0.015
0.01
0.005

................................................

1.0

Ratio

[y
]
i
N
by
\S

107 1 10 prT (Ge\})o3

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPE_step2_ttbar-phasel-newgeom
—— DQM_pixel CPEANdChi2_step2_ttbar-phasel-newgeom

= 0.
2
20.09
2
50.08
o
£0.07
[}
0.06
0.05
0.04
0.03
0.02
0.01

J—o: I. 111
1.2E- | -H
12 ][4}

0.9

Ratio

Efficiency vs ¢

s 0.
g
20.09
2
_90.08
(8]
£0.07
[J]
0.06]
0.05F---
0.04
0.03]
0.02
0.01

LB BN B BB LR RN BN RN LR

o LG:_! : T ;
T Loshl : THT. Bl
& 105 1T THE 1
41+ = RREE

14 ]

t{4- - T

0 1 2 3




	Contents
	Page 1


